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We know that the angle ADC is 180 degrees ,and given that the angle BDC is 9 degrees 
we can find the angle ADB. 
Now, knowing that the sum of the internal angles of a triangle is 180 degrees, we can 
find the angle ABD, and we can apply the Law of sines to find the side BD. 
Now we can use the first theorem on right triangles to find the side BC, that is also the 
‘height of the mountain’. 
 
ADB = 180°-9° = 171° 
 
ABD = 180°-171°-3.5° = 5.5° 
 
BD = sin3.5 ÷ sin5.5 ∗ 13 = 8.28 mi 
 
BC= 𝐵𝐵𝐵𝐵 ∗ 𝑠𝑠𝑠𝑠𝑠𝑠𝑠𝑠 = 1.295 mi 
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